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Unit 5 Study Guide Name ﬂcg/ S

1. Which information is needed to show that a 2. Using A-D from #1, which information is needed to
parallelogram is a rectangle? prove a parallelogram?

A. The diagonals bisect each other. ) h‘j—*‘:'
& “

hc diagonals are congruent. ra
C. The diagonals are congruent and perpendicular.

A) From # |

Dé%wf.ls b ye e

D. The diagonals bisect each other and are perpendicular.

3. Given the points P(2,—1) & Q(—9, —6), what are 4. An equation of a lineaisy = — 1 x — 2. See graph.
the coordinates of the point on the dire z
ratloI}

segment PQ that partitions PQ into t

(_E —3) 2 T

AT
S ?'\'r;'"lf{_—?-"';'\ﬂ':?_—;:'-_‘\" T

. -t
)’ = 2 + % ( " ﬁ -2 ) - 2+ é ( -!r) What is the equation of the line that is perpendicular to
' -g ~33 line a shown on the graph and passes through point
2(2 ..x,' 2: _Z_‘f' S - lo-33% (_4'0)‘ ' 2
$ s - e
[ wm = 'L e 4 / I

'?"} (-2 R I -f—rﬁz_é—x-l-z
» A FRAy=-ixrs oz R[Y) 0

AY Cy=2x052"
-y =225 O= -B+b 7
(Tﬂy=2x+8 L Lb;?? P,

A\

f: —

5. Which point is on a circle with a center of (3, —9) 6. Parallelogram ABCD has vertices as shown. .
and a radius of 57 , \ (h ¢ gg? -
A. (=6,5) 6 DY Y
B. (—1,6) (x ""> "(‘?*“’3) yAs
C. (1,6) ) 2 (1,0}
= |
@6,_5) [b")\ *'("g"'c\) =24
2 & . w4 1% {4, —4)
2 x4 =25 -
N Write out the two sets, AC & BD, of the full distance
q - e = 25 formulas set equal to each other that would be used to

prove that the diagonals of ABCD bisect each other?
2 & o )€ " Then solve.

__—_ﬂ'—-_-'
p8 TR+ (2-0) ‘fl-( D3+ (o)
2222t = () &{z)‘ — r r
&C 170t (o= { 12N (4-0)°

| 2% (-4)* = ‘2‘#(@()" — GO
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Use the information provided fo write the standard form of a circle.

7. Center-,('Z«/»_ 3= 5v2); Radius =13 . 8. Center: (4, 514)andthepoink(,11).that licson
e the cwcle

O R R R

P i B AT Rt s STt

| (D ) = ﬁ;’zﬁ
AX Ay

Use the information provided to write the general conic form of a circle.

9. (x+10)2+(@y-7)%=9 10, (x—14)%2+(y+14)%2=9
K rZox 100 ritotdig e T-T O X238y +176 +*77’ rZB"y +hk -7 =0

b, i o o "'---__H

L X «H%Z' +20Y - IL!«,)_H‘JO ~O N

v ,r -Hl? T 28x +z,35 +3323 = j

et i A . B i 40 bt

Use the information provided fo write the standard form of a circle. Then idenify the center and radius length.

11. x2+y2—20x+2y+76—0 12. ;@zﬁﬁﬂuwo
Y roer .LQ&_*’&) 4:%,«%-_[__ ;7;02 P +23x+ﬂj 9 “2?4_ 3 '—l(;;'
e A N +
K2 Q‘.L‘?\‘ ozl ti (’D "775‘ ) +36
(x—:o) + {;,d,. H) 5 ZS ) | (_x ! 7_) " (Lyf‘(p) «7—4 9
CQ%'\W (lb, ) f Y szlﬂf, (‘7 (/ﬁ) e r_.-S'
FEnd thecmtcraﬂdﬂremdimfmgﬂltamte thestandazdfozm ofeachcircle. .. e
13. 14.
(xw} +(o;, 5‘) Blo (X’S) (v, "5)
S gaEaELaEn
C:('\’h?)\ : ""’1""—"““""X
ot 10 6 6 4 -2.2: 2 4 6 8 10
(b ' “:-_' e
of i
é"a'g'J"z*' RSN B o
H_/f‘- 'IU:
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(6,0)

Prove or disprove that the points A(8, 6), B(8,—6) and C(—10, 0) are the vertices of an isosceles friangle

15.
inscribed in the circle centered at the origin Q and passm& through the point P(j{ 3,/91).
o4 e dip = 1 ()b - =1 (3-0) (@70 = floo >0
A A0 - ““‘“}:‘""'"z T 2. 100 =0
C e e <% S Pl IO ) (e (B0 HL-07"
i e o AAac is 1soscele S (8- 1(8-0)%(b-0)*= f°°='°
amgdm = |

On a coordinate plane, a local television station in at t}w_aﬂ_und has a bxm&aast
16) Write an equation that represents the regto? oehed 17) Can a person who lives 18 miles to the East and 35
miles North of the station watch this TV station?

coverc;l by- this tele\nsmn ,stahon
("M x ;.%, = ”2.{500 d= i (13)*+ (as)*
""w...,_______%ﬁv_,,_...,»"* - EZL{P\ZZS H'es 3q.3bcs’b
CAv &2 onigia = 29, 3 mails ;,”1";&“;,; |
mndbmshﬁm _

You’re a cily planner, so you know that streets run north fo south and avenues run east fo west. Your
lives at the corner of 3rd Street and 28th Avenue. Her sister Rebecca lives af the corner of 27th Street and 16th

Avenue, If necessary, draw a graph fo find the cross street that:

18. Ishialiway be‘th/f:%n LI5S I%)mes 19. Is 2 of the way from Melissa's to Rebecca's.
1 — —-—
magrs (B ) e = 18- %( %) : 257
W 3o
- ( "'T e
T oress gmw :D 22"%: : lS <+,,
A B
21. Separates their homes in a ratio o_f_E.

20. Separates their homes in a  ratio of STt a"g

b 2 28+ ()= 8-9-1

= %4_ (}—j') ‘54’\6-2‘
[qh’;h/g c 2[ o S'h'.&f“

Ave :Zﬁ*t("{’) 28 -2 =Tl

b =3+t (H) = 2=
W “’“/‘VL‘ ¢ 7*‘* sJV.u:f'

R

Defa:mmgztfpéfmii lies on 4 circle with center Cand point P wfm:b known fo lie on tlze circle. ..
g‘*ov\c ¢ tiv +mC
23. A(0,4),€(2,1),P(53)

22. A(S,0), C(O 0), P(

dce"fh{("s)‘lr(‘l) -ETTP:S—:S'/ chMZs)’ﬂ—-(z\": 3

dCA \'DOSStbLQ(‘
ﬂes ()'f"A bus m Ct auC._,}" z'f'S ?+ A utson Bl Q
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For each figure using, prove the type of quadrilateral, using distance and, or slope. Keep diagonals in mind.

24. ABCD: A(1,2),B (2,5),C (4,3),D (5,6) 25. EFGH: E (4,1),F(-2,3),6(2,~5),H(-4-3)
\& \W&u‘naﬁ,&.ﬁ,d%mu BC M ek ne W SB el ods S op SidasfRaplial .
%"- ' Ul ¢ ¥ 10 wﬁu '%;"t:ﬁ Yo - Shuket -
: £ Cmrparents ol @n-
wae = 'y gw M e ganmt ~af = bly poml.u/ 'h"sgl‘:M‘Mb
A = 3, . Mue= Y| s &
Wt s w0
Mo Cehom s e 1T e didame
ia _ T
¢ L W
11 i gﬁa
’k'-. 7

Write the equation of the lines below in slope-intercept form: y = mx + b. G'
- 26. Through (—4, 5) and parallel to y = — gx —5. 27. Through (4,1) and perpendiculartoy = —2x _/2
, neom= iz
5=-3(4) +b 1=5(H+"
=3 :.Ll‘z—'-' +k7 | = L+b
S+ b bx w‘
b E- ’ —
- =
y= 31 9= 35 -1
Hind the are mgpeﬁ'mz of th wing triangle. Simplest form required. Reminder: Draw altitude fo find he{ght.
4 Z
28. Area=(S¢.S U +h (1.'_'_} - T .
- l?—i- : Tx e Y esEs

/_, . = \}_‘-:- ’-..-_“ : . . | - -‘-\I‘
29. Perimeter“::“q » (1aq + @W“R 0 Z %‘.’“4‘-3 S
dbc= | (s)r+(i3)> = WEE;
dpes \CEH% (% = 1305
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